LABJNDu6-triangle lightness t*
with Y;=Yyw =100,
LABJNDu6-triangle lightness for colours with t*,=-301
| ABINDUE =A2nlIN[(A 17+A2Y)IA 2] (Yo/100<Y<=Yy)
t=—457,t*,=-301,t*,=-102,n=0,86,A;=0,017,A,=0,0C
T*90 T*u 199 23, fal
T*u

T*04 T*u 7147 72
T*03-T*u=-168,55
T*u=-302,00

ange

CEE60-1N

log AY LABJINDU6-
AY tristimulus value difference
with Y,=Yyy =100,
t*LaBINDU =A2n[IN[(A 1n+A2Y)IA 0] (Y,/100<Y<=Yy)
LABJNDu6-tristimulus value difference
(dY)FAo(AL+AY) Az A1y=0,017, A=0,0058, A=]
d919D58, 3 7AK-for1A0ecAGHE, 260 NED65=0,666
dY18=0,06, AOn=0,666, A1n=0,014, A2n=0,004
dY04=0,02
| dY03=0,01
| dYu=0,06

_ ©j=-301 d%=0,06 dY/}=0./038
T log(dY)=0,06 m=0,d5 “u
{l
{l

application
range

:Yu:18

CEE60-3N

log (AY/Y) LABJINDU6-
_ tristimulus value sensitivity
SO with Y,=Yyy =100,
t*LaBINDU =A2n[IN[(A 1n+A2Y)IA 0] (Y4/100<Y<=Yy)
LABJNDu6-tristimulus value sensitivity
dY/N=Aon[(A1n+A2nY)/Aznl/(Y)
(dY/Y)90v,00, fakj=0,1000, A0=0,1000, AOD65=0,666
(dY/Y)18/u0,cQ AOn=0,666, A1n=0,014, A2n=0,004
(dY/Y)04/u0,02
(dY/Y)03/u0,00 __
dYu=0,06 application
range
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S S Ny
l* =—301, d;=0,06 dY,/Y,=0,0038 1
YN=4 0 1Y,=18
i

0n(dV/N=—2 41 m =-N12
CEE60-5N
log (Y/AY) LABJINDu6-
tristimulus value contrast

GO Yo=Yy - =100,
t* LaBINDU =A2n[IN[(A 1n+A2RY)IA 0] (Yy/100<Y<=Yy)
LABJNDu6-tristimulus value contrast

(YIAY YA gr(ArrtAznY) Az

t* —*301 d\(. O 06 Y/dY =258

" log(Y/dY)=2,41, m,= 013 st
{
(Y/dY)90291,22, fak: u 1000 A=), 1000-A0DE5=0 6
(Y/dY)18258.59, AOP—2 006, Aln10 omph(;&tmom
(Y/dY)04173.54
Y/dY)03152 %0 =
giv“:r)] 06 Yn=4

'YU718

CEE60-7N
CEE60-7N

t*/tx, relative LABINDu6-triangle lightness t*
o with Y=Yy ~ =100,
Ry
relative normalized LABIJNDu6 data
LABJNDu6-triangle lightness for colours with t%,=-301
™ LaBINDus =A2n[IN[(A 1n+A2nY)I/A 20] (Yr/100<Y<=Yy)
T*90-T*u=199,23, fakj=0,1000, A0=0,1000, AOD65=0,6
T*18-T*u=-0,00, AOn= 0,666, «1n—’/,014 §2n =0,004
T*04-T*u=-147,72
T*03-T*u=-168,55
T*u=-302,00

application
range

1Y,=18
R

CEE60-2N
log(AYIAY,)
AYIAY,

relative LABJNDu6-

tristimulus value difference

with Yo=Yy - =100,

t*LaBINDus =A2n[IN[(A 1n+A2nY)I/A 0] (Yy/100<Y<=Yy)

relative LABINDu6-tristimulus value difference
(AdYY(dY)=Aonl(A 1ntA2nY)/A2nll (dY),
dY*90/dYu=4,43, fakj=0,1000, A0=0,1000, AOD65=0,6H
dY*18/dYu=1,00, AOn=0,666, A1n=0,014, A2n=0,004
dY*04/dYu=0,33
dY*03/dYu=0,28

log[(dY)/(dY =0, f"u-o o , application
- range

- » J
Yn=4 1Y,=18

CEE60-4N

log [(AY/Y) | AY/Y)] relative LABIJNDu6-
tistimulus value sensitivity

SSu=@YMIBYIN) v =y, =100,

t*LaBINDus =A2n[IN[(A 1n+A2nY)I/A 0] (Y3/100<Y<=Yy)

relative LABINDu6-tristimulus value sensitivity
(AdY/YY(dYu/Yu)=Aonl(A 1n+AonY)/Aznl/ Y((dY)/(Yy)
(dY/Y)90/UD,28, Tan;=2,1000 A0=0,1000, AOD65=0,66}
(dY/Y)18/u1,00, .0n=0,666, A1n=0,014, A2n=0,004
(dY/Y)04/u1,49
(dY/Y)03/u1,70 ~oolication

: dYu=0,06 Se e

= = -------:-...Ild
T Togl@YIYY(@Y IR0, m=-0,13 1

t,=-301, dY,=0,06 d¥/¥,=0,0038 }
Yn=4
i

CEE60-6N

relative LABIJNDu6-

log [(Y/AY) / (Y/AAY,)]
tistimulus value contrast

ClCu=(YIBYY(UAY) vy =100,

t*LaBInDus =A2n[IN[(A 1n+A2nY)I/A 0] (Y3/100<Y<=Yy)
relative LABINDu6-tristimulus value contrast

(YIYY(Y dY)=YAon(ArntAonY)/Aznl/ ((Y),/(dYy)
(Y/dY)90/u1,12, fakj=0,1000, A0=0,1000, AOD65=0,66
(Y/dY)18/u1,00, AOn=0,666, A1n=0,014, A2n=0,004
(Y/dY)04/u0,67

(Y/dY)03/u0 ]

dYu=0,0

Iog[(Y/de(Y /dY,)]=0, m;=0,13

=

| tu=-80% d\(,—0,0G Y“/dx"?‘ application
| > ' range
= 1y =
Yy=4  1Y,=18

CEE60-8N




